Some Alternative Rules for “Six Days of Glory”

By John Best

Overview:  My main objective was to try to develop an alternative to the odds-based Combat Results System used in Six Days of Glory (6DoG) and other games in this series.  I did modify some other rules along the way, mostly along the lines of trying to simplify them somewhat while maintaining as much of their spirit as I could.  What follows is not a complete rewrite of the rules in these games, but it will provide enough detail, I hope, to enable the reader to try this alternative for himself.  Rules that are not mentioned in this alternative listing can be assumed to be in force as they written in the original game.  I numbered the rules according to their appearance in 6DoG, except for some other rules changes that I made that I numbered “zero”
0.1 Vedettes (13.0 in 6DoG).  I think this is an interesting rule, but, as the combat system I developed for this game deals in whole step increments, the vedette counters (which have a combat strength of ½ ) just don’t seem to work.  I’m going to recommend that players agree to not use them while implementing these alternative rules (the vedettes themselves are optional in at least one other game in the 6DoG series, Last Days of the Grande Armee).

0.2 French Command.  All French counters are always “in command” in these rules.  French units are not required to be placed in command by a leader; they can always move, enter ZOCs, and so on.  Whatever you want them to do, they’ll do, because you’re Napoleon, and this is 1814. The Allies must use the Command rules as they are written in 2.0 (Sequence of Play), 5.0 (Leaders) and 7.0 (Command).
3.0 Stacking.
Stacking is limited to two division-sized units of either infantry or cavalry, plus one additional cavalry unit of sub-divisional size, plus one artillery unit of any size.  A corps of either cavalry or infantry counts as two division-sized units.  Here are some examples of legal stacks:
Two infantry divisions, a cavalry brigade, and an artillery battalion.

An infantry corps and a cavalry brigade.

Two cavalry divisions, a cavalry brigade, and an artillery regiment.

6.0 Reorganization.
During every “night” game turn, the phasing player rolls a single D6 for each “command” in his army.  For example, in the French Army, the corps of Marmont is a command as is the cavalry corps of Grouchy.  In the Allied army, the corps of Olsufief is a command, as is the corps of Yorck.  The player compares the die roll to the following simple schedule:
Die Roll
Result

1-3
One strength point may be redistributed among the units of the command.

4-6
Two strength points may be redistributed among the units of the command.

Taking either his one or two strength points for each command, the phasing player may increment the strength of any unit or units that have lost combat strength during the preceding day or days.
6.1 If a command has a unit in the dead pile, the unit in the dead pile must be given a replacement point before any other unit in the command can be given a replacement point.  The unit is then removed from the dead pile and placed on the board.  Stack the returned unit with its leader.

6.2 Once a unit has sustained a loss in combat or repulse, the unit can not be brought back to full strength through the reorganization procedure (unless it had only one strength point to begin with!).   If a unit’s at-start strength was “n”, then through reorganization, the greatest strength that the unit can reattain is “n-1”.   

10.0 Repulse.
I revised the repulse system to work more like an overrun as in MMP/The Gamers SCS games, except that in this system, overrunning stacks benefit from having cavalry that can scout out enemy positions, and thus possibly save an overrunning stack from stumbling into a strong defensive stack.  Here’s how this rule works:  Units which begin the movement phase stacked (it could just be a single unit) and are not adjacent to an enemy combat unit, are eligible to conduct a repulse attack, which is carried out in their movement phase.  They move adjacent to an enemy unit (remember, you can’t be in road march mode when you enter an enemy zone of control) and the phasing player then declares the cavalry strength of the overrunning stack, which is the total current cavalry strength in the stack attempting the repulse.  The phasing player does not have to reveal the strength of any of the other units participating in the possible repulse, just the cavalry.  If the stack that is the target of the repulse attack has less cavalry strength than the phasing player, then the phasing player has “cavalry superiority” and the defending player must remove any “hidden force” markers from his units, thus enabling the phasing player to see the total strength of the stack he wishes to overrun.  If the defender has equal or more cavalry strength in his stack than the phasing player does, then the defender has “cavalry superiority” and the defender is not obligated to show the contents of his stack to the attacker.  Whether the phasing player has, or does not have, cavalry superiority, it does not prevent him from attempting the repulse, although the phasing player may decide not to attempt the repulse attack after seeing the contents of the enemy stack.
However, if the phasing player chooses to continue with the repulse attack, then he announces his intention and one “battle turn” is conducted with all the modifiers (including cavalry superiority) listed on the CRT (See 11.0).  If a Defender Repulse result is achieved on the CRT, then the defending stack absorbs any losses called for and retreats five hexes.  One additional strength point from either a cavalry unit or from an artillery unit must also be decremented from the repulsed stack, if there is such a unit in the retreating stack.  The phasing player may continue to move his stack and may continue to make additional repulse attacks, provided he has the movement points remaining to move to another enemy stack.  If the phasing player himself rolls an Attacker Repulse result, then he must retreat his stack five hexes (regardless of how many movement points the stack still had remaining), and lose one additional strength point from either a cavalry or an artillery unit if there was such a unit in the stack.  With an Attacker Repulse result, the would-be overrunning stack must end its movement.  With any other result, the attacker or defender takes the losses called for and remains in place, thus ending the movement of the phasing player’s stack.  Phasing units that end their movement phase this way may still deploy for combat and fight as many battle turns for which they are eligible in the combat phase.
11.0 Combat.
11.1 The Relation of Movement to Combat.

When a unit or stack moves during the movement phase, movement points are subtracted from its movement allowance.  If a unit or stack enters an Enemy Zone of Control (EZOC), the number of movement points it has expended determines the number of “battle turns” that may be played during the Combat Phase.   The phasing player keeps track of the number of movement points expended by a stack prior to its entering an EZOC, and notes this, perhaps with a marker showing the number of battle turns that can be played in the Combat Phase.  The number of stacks moving in 6DoG is mercifully small, so this rule is not particularly burdensome.  The schedule below relates the number of movement points expended to the number of battle turns that may be played in the ensuing Combat Phase.
Movement Points Expended in Movement Phase
Number of Battle Turns



4 (or more) MPs



1 Battle Turn



3 MPs





2 Battle Turns



2 MPs





3 Battle Turns



1 MPs





4 Battle Turns



0 MPs





5 Battle Turns

For each of his units that are currently in command, the nonphasing player is entitled to expend one movement point per battle turn, and this expenditure occurs prior to playing the battle turn.


Units that move and join a stack that expended fewer movements than they did can participate only in the number of battle turns that they would normally be entitled to.

Example:  A cavalry unit expends four MPs to join a stack that has expended zero MPs.  The cavalry unit can add its strength to the stack, but only after four battle turns have been fought without counting its strength.  These four battle turns represent the time that the other units in the stack were fighting before the cavalry unit arrived.

Design Note:  The concept here is that the battle turns represent “temporal slices” or portions of the game turn.  The idea is that if the two sides begin a game turn already deployed for battle (0 MPs expended), there is a much greater likelihood of the side having greater strength fighting the battle to a decisive conclusion, than if the battle is a meeting engagement that results from both sides having maneuvered in the turn.  For the nonphasing player, a greater number of battle turns being played allows him to move uncommitted units to possibly reinforce stacks that are being worn down in combat.   Remember, the French units are always in command.
11.2 Defining combat.

Combat occurs by comparing the current combat strength of opposing stacks of units.  A stack always attacks or defends with one unitary strength, as modified by certain conditions.

11.3 Combat procedure.

The phasing player announces a battle turn will be played.  If a phasing player has units in an EZOC, then he must play at least one battle turn.  Nonphasing units in command may now expend one movement point at the discretion of the nonphasing player.  A battle turn consists of the phasing player’s attacks on enemy stacks, followed by (possibly) the nonphasing player’s counterattacks. The phasing player can allocate his stacks to attack in any manner he wishes, as long as all adjacent enemy stacks are attacked.
Example of combat procedure:  The French player has two stacks in an EZOC at the beginning of the combat phase; the Allies have one Prussian stack to defend.  The French player announces that they will play the obligatory battle turn.  The Prussians have an infantry unit in command, four movement points distant from their hex; this unit expends one movement point.   All hidden force markers are removed and the strengths of all involved stacks are revealed.  In one stack the French player has two infantry units (each with a strength of 5), a cavalry unit (strength 2) and an artillery unit (strength 2), for a total of 14.  This stack has two battle turns available to it. The other French stack has a total strength of 8 (and no cavalry or artillery); this stack has four battle turns available to it.  The Prussian stack has a total strength of 10 (two infantry units of 4 each, plus cavalry and artillery of one point each), plus the valiant Kleist is stacked with the units.  The French player attacks first with his big stack.  He has 14 points to 10 for the Prussians for a raw differential of +4.  But the French also has more cavalry and artillery, each one raises the differential by one, moving the differential to +6.  But the Prussians have an officer in the stack, so that knocks the differential back to +5.  The French player rolls a D10 (a zero result is read as “10”).  He rolls a “four”, forcing the Prussian to decrement one unit (he chooses an infantry unit) down to a strength of 3.  The French player now unwisely determines to attack with his other stack.  He has a strength of 8 against a strength of 9 for the Prussians, putting them at a raw differential of -1.  But the Prussians also have cavalry and artillery superiority, plus an officer, moving the differential back three more places to a -4.  The French player rolls an “eight”.  What luck!  The Prussian player must decrement one of his units; he chooses the other infantry unit, lowering his overall strength to 8.  With the French player having conducted his attacks, the Prussian player is given a chance to counterattack, but he would have to counterattack all units to which he is adjacent as one combined strength, and he correctly evaluates his chances as poor. The number of battle turns remaining is now reduced by one for both French stacks.  The French player can continue with another round of battle turns, but having fought one, he is not obligated to continue.  The Prussian player is not permitted to make use of nonphasing movement or counterattack provisions, if the French player ends the Combat Phase after one battle turn.
11.4 Disengagement.

 For the nonphasing player, a legal stack in command can move one movement point prior to the combat portion of the battle turn.  Such a stack may enter a hex occupied by engaged friendly units, perhaps momentarily overstacking, and thus and permit those originally engaged units to withdraw one movement point prior to the combat portion of the battle turn.

Design Note:  The disengagement rule enables a stack to escape prior to being repulsed, provided the commander has a unit handy to serve as the rearguard and take the hits.     
                            Combat Results Table

Die

Differential (Attacker Strength minus Defender Strength)
Roll   -5   -4 or -3   -2 or -1   zero   1 or 2   3 or 4   5 or more
1      A3Rp   A2Rp       A2Rp     A2Rp     A1Rp    A1Rp     A1Rp

2      A2Rp   A2Rp       A2Rp     A1Rp     A1      A1       A1

3      A2     A1         A1       A1       A1      A1       D1

4      A1     A1         A1       A1       A1      D1       D1

5      A1     A1         A1       A1       D1      D1       D1
6      A1     A1         D1       D1       D1      D1       D2

7      A1     A1         D1       D1       D1      D2       D2

8      A1     D1         D1       D1       D2      D2       D2

9      D1     D1         D1       D1Rp     D2Rp    D2Rp     D2Rp

10     D1Rp   D1Rp       D1Rp     D1Rp     D2Rp    D2Rp     D3Rp

Modifiers:

Terrain:  Defender in woods, or in town, or across stream: Reduce differential by one.

Terrain: Defender in chateau: Reduce differential by two.

Officer or Commander in stack: + one differential favoring the side with the Officer.

Cavalry Superiority: + one differential favoring the side with more cavalry strength.

Artillery Superiority: + one differential favoring the side with more artillery strength.

Explanation of results:

A# (or D#): The Attacker (or Defender) must decrement the strength of one or more of his units by whatever the number is.  No one unit can be decremented by more than one point until all the other units have been decremented by one, unless there is only one unit involved, in which case, it must absorb all losses.
Rp:  The stack is repulsed and must retreat five hexes, in addition to absorbing all losses called for.  If the repulsed stack has cavalry and or artillery strength, one additional point from such units must also be lost.
Design Note:  This additional loss results from something like the “friction of the repulse” wherein the repulsed stack has had some of its components overrun in its defeat. 
Note:  A one differential change is not always synonymous with a one column shift.  All effects of modifiers are cumulative.  After all the modifiers have been applied if the differential between the attacker and defender is still less than -5 or greater than 5, then resolve the combat on the -5 or 5 columns.
